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71, Identify the organisms that belong to the benthos of lake ecosystem 74. Cho
/é’ (1} Chircnomid larvae and red annelids (2) Daphnia and Notonecta ' M
: (3) Ranatra and Copepods Y Gerris and Beetles | (2)
DIy 2 e égé‘g@‘ﬁ BogrodH Bodd EhHod Hbodikn | : (3)
(1) 3686 dozsos Hr005 {2) @*’%albﬁg* Sadctn S 3 )
A @20 @d
() o(er $o0050 5 HE) ) e %0080 DSS (1
' _ | @
72, In ECG a prolonged PR interval indicates | &)
(1} Myocardial ischemia and hyperkalaemia , ‘ (4
(2} Cardiac arthythmia and hypokalaemia ;5. 1de
€) Corong.ry artery disease and rheumatic fever (1)
(4) Hyperkalaemia and hypokalaemia (3)
ECGS® O PR wosd so H3HG B 2rDHod Bc
(1) $TIr5°80%S aRDair 200w o5 TV 0
@) T)8dss S5y Kby T TBvER 3)
(3) $6°%0 wgd 32F ook Sogdr 8§ wgdo —
(4 rHEEBDcr @00y IATEEud 6. g;f
73. Which of the following hormones regulate solute reabsorption during urine formation in (I
Rabbit ? | (il
(1) Angiotensin 11l and Angiotensin I "
(2) Nor-epinephrin and Epinephrin ¢
(3) Angiotensin Il and Aldosterone ‘ , z;
/Eﬂ'; Antidivreiic hormone and Angiotensin 1
0B ens’ X)aj"@ﬁo DEBLS & (808 @ 565 % (oo Tand chao@%moga? (1
(I wozIr@Baye I H0oks woB W BN (I
@) =6 DOI(HS Do INIBS _ . ' (1
(3) 02T BNS I 200 s*HES T
@) o8 oIS HE) S S0 wordrES | | ;
Rough Work . ’ B ‘ m
AM 2013 D | 3 5 o AMZ
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74. Choose the wrong statement with reference to Mutation theory :
(1) There are no intermediate stages in the course of evolution

(2) Mutants are markedly different from parents\ /"
(3) Mutations are subjected to natural selectiom/

(4) Mutations are cumulated over generations .

G$Y05 YD %gﬁo@?)é HonodoRd Fgpgod” VO Tgmgds MOowWdY
(1) 500’ D GToS rdghd Siew G0t

——— 2) 683898 me 8 $%olhe 0D [HRYEDY Pordy Az

3y &80T e (HE)EeIS T e on

4 48308 ETe Howd Sred Hoddo ePhson

75. Identify the tumour suppressor genes from the following =

(1) P*® genes - (2) Pseudogenes

(3) SRY genes (4) Oncogenes

B0d &’ ergal $09038 aligryois oo

(1) PP aoghes (2) dgrgudogHm Too wrd asghHos
(3) SRY adogsyen , OR wo§" adgHo

76. Of the following statements about ‘Antibodies’ and ‘antigens’, choose the correct set
(I) An antibody consists of four identical light (L) chains, and two Qx)d?yhcal heavy H)
.7

_ chains. |
ation in (IT) The stem ‘Y’ of antibody iscalled ‘F ’ fragment. @( " \
(II) The stem of antibody and lower part of the arms constitute the ‘constant’ (&‘f regign. /
(IV) The portion of the aniigen to which an antzbody binds is called epitope. . ]
28 Bt o8y (98 eS50l’ HowoBodD & (300 Fopged” @B&a?{a
28 FodaSSedw
@) a¥ B8 Tirod® e V8gRsrd B08ard (L) Meotown Bo0cke Do
N Reddrsd g (H) Feodoen goaron.
"LO%? W) (58 Biro YD 56 ooy F, wodo eotrdo.
() (58 Biros™ 526 griio, erdvo (Bod g o 3T (C) @roed), DY 0w,
(IV) (H8BHRE wodSathy (HBIEY ) IDETD wotrd, |
The correct match is

DOTHS wd y
S ! () (i) and (IH) (23 (1) and (IV) (3) (1) and (II) (4) (I} and (IV)
' : Rough Work - |
AM 2813 D 318
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79, In birds, Foramen triosseum is present at the junction of

80.

(1) Scapula, carina, furcula

(3) Clavicle, synsacrum, furcula

(I) @odHwidn, stda, DO

(3) =S8, ééa@ééw, DYoo

(2) Scapula, corocoid, synsacrum

(4) Clavicle, scapula, corocoid

B%Hod ehgah ogo & (fob ddntes 9D S'h sodwod

(2) wodHoEin, woddodin, wdgsdw

(4) (&8 2odveiin, woddiodsn

Match the following
List-1

V(A) Conjugate vaccine = -

(B) Toxoid vaccine

(C) Attenuated whole agent vaccine

(D) Inactivated whole agent vaccine

(808 &R zdBndoiod®
HEE-T
(A) srowrBd a8

(B) wrsmyowk 78y

(C) I8drgBBE H°6 2208 833
(D) 2588w TS Jzod T80

The cotrect answer 1S
38 DOTDVY DAL
@a ® © O

_}%’(H) ™ v T

@ © @ ay V)
G @ a O av
@ o o) v @

List-II
() Human papilloma virus
(II) Haemophilus influenzae
(I11) Bubonic plague
(I'V) Yellow fever
(V) .iphtheria

Sg&-11
() Eogod 3"5%3:5{’;33‘ 3
) BrHec asgrdow
() 20ges*8 >
(IV) 53y zgdo
(V) 830

Rough Work
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PHYL.CS
83, A par
8i. A J kg block is placed over a 10 kg block and both are placed on a smooth horizontal the m
surface. The coefficient of friction between the blocks is 0.2. If a horizontal force of 20 N of the
is applied to 3 kg block, accelerations of the two blocks in ms™ are (g = 10 ms™)
3kg (B5g0°R Heo wf 0%y 10k (B8g07R do £5°8 05D GoSasI6 ‘20 &
200w & Tody of SHdod §8z dSrodd Jodn Hodwdid. o Tod 55
B¥0 ¥y wadm Hn¥sn 02.3 kg (B¥g0i 20 No §8a 957088 Beo @S;
(PWrdoRdIyds, © Tod Qoo dgdmdnen, mses® (g=10ms %
h=02 |3kg —> 20N
10 kg
— o
(1
14 13 14 13
} _“‘?3 —53 ‘“*306 —“906
(D 5 @ - 0 @
84, If ¢
- bec:
o g
42, A stone tied to 2 rope s rotated in a vertical circle with uniform spsed. If the difference between the X7
maximum and migimum tensions in the ro. 5 20 N, mass of the stone in kg is (g = 10 ms‘z) ALY
5e
w8 T Eoudd o 2¥ Jwy SBE0S’ J508 HEE DD EI0. ¥ THEoLd -
6%, S BSgdo Bkho WN wov™ oan [@hgeed kged® (g =16 meh
(1) 1.0 (2) 1.5 - | 3) 0.5 4y 06.75 (1)
ﬁ'@ugﬁ‘a Work . T _ o gughm
AR I013D 2 8 AM 26
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3.

84.

FAAN

a
A particle mass ‘m’ is attached to 2 ihin uniform rod of lengih ‘2’ af a distance of 3 from

the mid point C as shown in the fignre. The mass of the rod is ‘4.m’. The moment of inertia
of the combined system about an axis passing through ‘0’ and perpendicular to the rod is

a PEH do o ¥ 08 B 58 $ogfg Dodo) C Hood 1 Srddns® ‘m’

Ld&gcr"‘? Ho Smdn Hovns® Sroeddtm $ADoladdo. §§ [@¥eod 4m’. ‘0’
oyor ¥68 vovdnm P vfo Sowd Vodng ST Wk wady CARRETSSY

Mass ‘m"
:I C (Bdgo? ‘m’
0 « 2 & 1

2 91

27 50 5 64 91
(1) —@ma (2) ;ﬁma (3) ngma (4 ggma

If earth were to rotate on ils own axis such that the weight of a persen at the equator
becomes half the weight at the poles, then its time period of rotation is (g = acceleration due
to gravity:near the poles and R is the radius of earth) (Igno  equatorial bulge)

FrdgisBy 5¢ 2% Hg8 wdo) Fyro I DD pdde® Do adhdHm o
B, Prd 83 G e ¢35 wfo Do Bddd ) bond, o [FHomddD
s“;a’;ao (g=gyoro 54 Hadade dgdemdn, R-gra 55"5?2‘5“;3’5633) (z;Sa*éac,ﬁg‘cfsp 9
65200} @égﬁodoém | |

k R | R 2R
~ el A - 2 L 2 R
(1) m\/;g @ 5, (3) ﬂ\fg (4) ,“\/;

Rough Work
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1
85. A particle is executing simple harmonic motion along & straight dine. At displacemenis I, 8. .TWO c;aph
and r, from its mean position the velocities are v, and v,. The time period of the particle SO,
is ) DIESSUIE ¢
¥ Sodn of LO¥Te Joad HEY mo*és%s D deﬁawlﬁa gV, o 3
NggHs FHde $0d FIForew 1, 1,00 DI & Lodn Fddvos Sdodm Feron
v, éa@oéaa v, Emden Goar S srodn edpd
1/2 12 :
(1) | i 2E y L] e
t_r22+r§ | | ()'Zn[rfu?;z
- 2 | R . §9. When a
Ty — 1 . Iy =T
0) Zﬂ[“—*% 12} 4 24 ; ‘:J Lo
Vi =V LV2 Y apparent
17 x 10
86. Force constants of two wires A and- B of the same material are K and 2K, respectively. If -
&
| . , . AR 1.03 % 1
the two wires are stretched equally, then the ratio of work done in stretching | —= | is '
(W 6 x
B 1.00
2% aacro’oés Thowdd A So6c5n B 9l Bodedle ve RorofBner HEdm K Haeo &
%28 0% 2K ¢ Bodk dod Dirsom FHdVDLONT, 8D THbaGost 26AS | 1y 9>
v é 3\/ a WA
2l I8 s | T : —
A W, ' ' .
99, A horiz
1 3 1 i -
v @ 3 O @ 5 temp
i ‘ changet
: oe
§7. “Water rises in a capillary tube upto a height of 10 cm wheraas mercury depresses in it by the ¢
3.42 em. If the angle of contact and density of mercury are 135° and 13.6 gm/cc respeciively, Bo ik
then the ratio.of the surface tension of water and mercury wiil be nearly e )
w8 T{PREHoEr Vs 10 em %G DS, 5 FEEHI0 TIHS 342 em $'D |
B, PEII 0V wde Boboke Jodses HEem 135° Lok 136 gmvec ‘ o ®
woIWE o Hodcke FEFHINe doddgde Dh 18 a0So o \ 1) 7y
() 5:16 | (2) 16:5 (3) 2:13 4) 13:2
: o | MMW
‘ongh Work | . ;]l Rough ™
|
. | 2013
M 2013 D 58 AM
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88.

R I I
PR

e b

Two capillary tubes of lengths in the ratio 2 : 1 and radii in the ratio | : 2 are connecied
in series. Assume the flow of the liguid through the tube is sieady. Then, the ratio of
pressure difference across the fubes is

Fero PdHo 3033 21 1 H0ake Ty M8 112 Ko ok THdE
Fréres (RBS* EoodadBd. Fodn ogo ($8 (Dardrdo PEdom ¢dy0 ERMLAT-
wdpd Fgro DE8e DESne Bwo 233

(1) 1:16 @ 3) 1:1 @) 18

89.

When a liquid is heated in a glass vessel, its coefficient of apparent expansibn is
1.03 x 107/°C. When the same iiquid is heated in a copper vesscl, its coefficient of
apparent expansion is 1.006 x 107/°C. If the coefficient of linear expansion of copper is
17 x 1¢ /°C, then the coefficient of linear expansion of glass is

08 mue FES o8 ([T T3 TR Rse ord $y¥g 55°5§64.5 HaeHo2
103 x 107/°C. &3 (Sardy, oof PSS B& JoIH& o Sydg g8 Mo ¥
1.006 x 10/°C. o7 B g o5 Hom 88017 x 107°/°C wowd ez B¢ g amg8™S

Hocadw -

(1) 9 x 107%°C ()27 x10%°C  (3) 10 x107%°C (4) 851 PC

90.

A horizontal uniform tube, open at both ends is containing a liquid of certain length at some
temperature. When the temperature is changed, the length of the kiquid in the tube is ot

changed. If “0is the coefficient of linear expansion of the material of the tube and *y’ is

- the coefficient of volume expansion of the liquid, then

Bods Bo 88508, §du vdroddom &) of 2868 Ayindod Fod
) 6% o8 B550 ol TS 5§ Lol sPYESH Sr0)IRE TR
SR (55D T ED SrEBS. v YR ‘éa"go By BYe 5?5551:5 fata § 5w
‘W 50050 w (B5%) DSBodre gES Hhoide Y, wond, wdpd

() v=3a (2) y=da 3 r=a 4) v=2a

- Rough Work
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W Tl minds lon £271. . Ty Fdale A . 2l ga AT gosmn cprldle 4 P oy
71 Maich the uowing from Table A, in the case of gases, wiih those in Table U

[EE T |

Table-d Tahle-B

(a) Work done in isobaric proces\ ]
b} Work done in isothermal process {e)

PV, ~ v.)
. . nR(T; - T,)
{¢) Work done in adiabatic Process (£ ""”;_‘1‘_‘
(8) Zero
THNHS" & (o8 O DEE A 508 REE B IS meh ot
wifE-A wgE-B
— -—8
@) %6 biw (Hfchod® %865 v () BRTlog, |~2
.8 vl
(b) %D sPE D8dhod® 2oas B (e) P(Vy=V))
' aR(T; - Ta)
() 280 B1BaHS® wsa% B2 () (}’1‘1

- (g) (ORNIEY
(2) areb-dcog
@ a—sebodcof

() a->hbogcoe
3) a~>gb->hcoe

ww.netbadi.in EAMCET Mock Counselli

92, Two cylinders A and B fitted with pistons contain equal amounts of an ideal diaiomic gas
at 300 K. Piston of A is free 10 move and piston of B is fixed. Same amount of feat is given
to the gases in the iwo cylinders, Temperature of the gas in cylinder A increases by 30 K.
Then, increase in temperature of the gas in the cylinder B is (y = 1.4 for diatomic gas)
SR o0 DA WS, A S9505m B ol Tod Drarey DIPS HEBre s
fo wf wgoy O3 ddrms Fecinphds 300 K S SOAAWND. A [ENEEPA
AVAOESEN %55‘3(? $00way. B W), swhesie SSum DhosadNa, Todk
oS Mafn ek HErs DOIrRR) &R d0 altwd I, A RrRdn $0sd
THERY GEAS 0K HOASA. B 4rdsn 080 soiug) ETASS Do
(GgRdarm ardundH y=1.4)

(1) 36K () 54K (3) 42K (4) 24 X
Rough Work | |
AM 2013 T 38 S
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83, The tey

section
from th
25 om
Hobcl
10em
(1) 8&C

84, A wire

95, A pi|
135 |
o,

2wy
53
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93, The temperatures at the two ends A and B of a rod of iength 25 cm and circular cross

© section are 100°C and 0°C respectively. In the steady state the temperature ai a point 10 om
from the end B.is (Ignore loss of heat from curved surface of the rod)
25 cm rdw) Mo éa@?d éac,ﬁgﬁl)béco Ko af ﬁ WaEy, Bodo DHden A
30050 Bo $¢ s iSor 380m 100°C K000 0°C Doid Q@ﬁé B %308
10em Do) éé &8 (5§ JEBere Lob &f FV) THS'S BHE855608E)
(1) 80 °C - (2) %0°C (3) 40 °C (@) s0°C ‘

94, A wire of length ‘L’ and linear density ‘m’ is streiched by aforce *T” and the frequency is
n,. Another wire of the same maierial of length 21 and same linear deusity is streiched by
a force 9T and its frequency is n,. Value of (n/n;) is, =
U ody, ‘m 8D Fodd Ao wf 88 T wood FHbhwdie. od
SHiRdgo N, @6 dorgod Hohwd, 2L 4R, 0 BH%H Fo|B8 Ko H5¢
&9 9T zmoé" &ﬁéoﬁo@éé B dapdgo n, wond (n/n) dend,

(Iy 1:3 (2) 3:2 3 1:2 - 4) 4:1

95, A pipe closed at one end and open at the other end resonates with a sound of frequency
135 Hz and also with 165 Hz, but not at any other frequency intermediate between these
two. Then, the frequency of the fundamental note of the pipe is

¥ Bl Hord 36E DG 86D Pod Mo 135 Hz Ho0dkxn 165 Hz ardrarge

tic gas dsf\)éﬁ woardo Bod, s & Tok @";6 ipargo gy 33 0 o DIgo
3 given S eswsed® Hodd. odypd o ToE) (PERE TIYIge Jwd
3K (i) 60 Hz (2) 7.5 Hz (3) 30 Hz @) 15 Hz
gas)
oy : 96, A small angled prism of refractive index 1.4 is combined with another small angled prisni
Ba§) of refractive index 1.6 to produce dispersion without deviation. If the angie of first prism
Tods is 6°, the angle of the second prism is
08 14 31885 fomfo o Jgoy §'mode bo¥o, 16 B’JLga:fZ)R’J fom&o o Bods
o bgo35'wo o dyged’, dodo Bow S)’g"wsao srodotem addddndad.
B v §wo 6° wond, Bodd Hy¥ Swo

e (1) #° | (@) & 3 (4) &

Rough Work
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o7, The ?ﬁag‘li{yé’”’fj powier of the astronomical telescone for normal adjustment is 50, The focal
length of the eye viecs is 2 cm. The rPcmmd -ngth of the telescope for normal adjustment
is
RTEE00 Bire L aR)Bypd Y eSS FHgso 50 wf gos
FErgodio 2em Dire SRt Hodsedd ety Sr88870 SES
(1) 100 cm (2) 98 cm (3) 25 em 4) 102 cm

98

. Light of wavelength ). from a point source falls on a small circular obstacle of diameter *d’:

Dark and bright circular rings around a central bright spot are formed on a screen beyond

the obstacle. The distance between the screen and obstacle is D. Then, the condition for the
formation of tings is,

28 Dody 2d8o Jood @dofiaéqo A Ao sme‘la 0 oo e A8y Sy s

%) wd8'do bl H4386. € 5083 DOE Y Doglg ¥y S og & sl
éog@mé Sy@srdd ddw wdfdo side by @8BS 98¢5 D8 Y@ 0w,
865, 638 G0 Sy drdo D edpd Dgo AEYEIB s oBd Dofdoo

d? A2
‘()f)/?v*’zﬁ (2) dxfﬁ (4) \f?w——

D
A —
(3) 4 4D

59.

A bar magnet of moment of inertia I is vibrated ina mag  ic field of induction 0.4 x 107* T. The
time period of vibration is 12 see. The magnetic moment of the magnet is 120 Am® The

. . e ) N v, o
moment of inertia of the magnet is (1n kgm*) approximately

Padds ardngo do wl Sowabdodo (068 wabd)od 3 |$o 0.4 x 107'T &
Fonddwe: Bavadod. o0 ws §3 smwo 12sec. wafadpodo Waed)
w308 gl 120Am’, @057 080 T addg rdigo duwd Hbrdom,
kem*ore®

(h 214 167 (2) 1. %1072
(3y 1728 x 1072 4y 172.8 x 107
}' wgh_ng o - o
AR I3 D
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The focal 166, A short magnet of magnetic moment M, is placed on & straight line. The ratio of magnetic
justment induction fields B,, B,, B, values on this line at points which are at distances 30 cm,
' 60 cm and 90 e¢m respgw\fely from the center of the magnet is
M wohdmed [proofo do of O9) doadhdrpodo & Ty ool Dhwdod.
5 Yoy ©dhdcd Soilo H00b & Te» $8dm 30 cm, 60 om, 90 cm 5780 D9y
$3) Dodope ¥4, el od L@dea (@ B, B, B 2038
’ (D 3?.2,1:27 (2) 27:8:3.37
3y 1:2:3 (4) 27:337:1
eter ‘d’, 1 y :
beyond 101. In the equation (EﬁJzk_j}:’ where P is the pressure, v is'the distance, kB is Boltzmann
1 for the ' '
constant and T is the temperature. Dimensions of B are
1y y o ‘
SE s SETT o afewdd 28Ensndod PGSy drosn. k, o'6E0S
BB ko T B &
300039, B | _
Y@ o, %woﬁim Sobadn T aaf|id. B Sogy abdiee
X0 1y ML @) M'LT? @y ML @ MILIT?
102. A person reaches a point directly opposite on the other bank of a river. The velocxty of the
water in the river is 4 ms™ and the velocity of the person in still water is 5 ms™ LIS the
L width of the river is 84.6 m, time taken to cross the river in seconds is
w8 g8 @cﬁadom:ﬁaél 58 wg drdm fo DodiH BSosoar lcéo 586
T The He Fedo 4ms! B0k diye I8 e Hpd Tedw Smst. $8 Bdeoy
2 The 4.6 M oS IO oaobdH DO sode oééaeéﬁ
(1) 9.4 ) 2 (3) 846 (4) 282
I 103, A body is thrown vertically upward from a point ‘A’ 125 m above the ground. It goes up
 to a2 maximum height of 250 m above the ground and passes through “A’ on its downward
208y joumey. The velocity of the body when it is at a height of 70 m above the ground is
5 {g = 10 ms™ o
2 wf 5 SrD> B08 125 m D8y $¢ D) Doy A 208 Deopm B8
Daluddd. o ;5‘:33@ gt Dok 250 m rfa:& DS Tondh. @ NRSEE)) (fods
bEdyRd, A o, FPér, P od T0m DS HI ke @ T
(g= 10 1s™) _
(13 60 ms™ () 80 ms™ (3) 20 mg" {4) 50 ms"!
) ; Rough Work |
AL D o 418
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O3
woig 2 s1a00: inclined plane of &%6/300.

The work done in MOVING 1n jouies is (g = 9.8 ma™

00 kg (B8 Ko o¥ D098, 30° Fwmdn fo-dodeled oo dody Sowd 0m

FD0DToHudS6. T IO0HTE Bubh S miAs B2, BEE (g= 9§ ms?

(1) 9800 ) 14,700 (3) 2450 (4) 4900

165. A balloon starting from rest ascends vertical
of 100 m in 10 sec. The force on the bott
(g = 10 ms™)
2 B@PS&)%&@?&;@ 2508 by DeodHm eSdsdnins HE FHse 10 %0885
Fosnd® 100 m Jdhg Fms. 50 kg (Bdg008 & BorS edof: RN Sanl
Dosn wodw (g=10msd )
(1) 300N (2) 606 W
{(3) 400N (4y 100N

44 g 3 € e A0 Lo 1o P A T ST
44, A vody of mass 300 kg is moved through 16 m 2

ly with wniform acceleration to a height
om of the bailoon by a mass of 50 kg is

1#6. Three particles, each of mass m, are placed at the vertices of a

right angled triangle as shown
in figure. The position vecior of the centre of mass of the system 48 (O 4z the origin and

1, 1,k &re unit vectors
a0

\

a8 wontle CIASESERS [SE:H) %E:jé}.:m STANRSETe SERCP N @Sgor oo DHéSne’
Srdnddes Hoduds. v DgeR (SB5e0°8 ToldHy PE VO (O-Sare Dodd,
Lk (DSn H6 5o |

Y
B !\m
\
b\
\
\‘\ m
\ L T, - W e X
m a !3\
2 T N 2, v 7.
(1) i) (2) {ai-bj)
3 _ 3
R o =
(3} (a1 +b)) , {4) —~f{ar—~bj)
Rough Work " - . -
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167, A ball of mass ‘r’ moving with 2 horizontal velocity ‘v’ strikes the bob of a pendulum at
rest. Mass of the bob of the pendulum is also ‘m’. During this collision the ball sticks with
the bob of the pendulum. The height to which the combined mass rises (g = acceleration
due to gravity) 7
‘m B850 Ko o wod §Ba BBrodd o V' & Lhenir dowe HBS
HB) o8 STofo TwE) Mok @830, Soddn Mok [$Sgrd Sra ‘m’.

& eDbrdod® wod Sfod HodhE ey $)hond, doding |Fdgad i
BOS 28y (g = My dedman)

2 2 ’ 2 2
v v

M 5% ) 1;— 3) fg Ol

198, The necessary condition in making of a junction transistor (E-emitter, B-base and C-collector)
(1) E is heavily doped, B is thin and lightly doped and C is moderately doped
(2) E and C are lightly doped and B is"thick and heavily doped
(3) E and B are heavily doped and € is ligﬁtly doped

(4) E and B are lightly doped and C is heavily doped

508 (YR85 SArEHT NI Y S dor FHoSoRd Jahaonw (B-aordse,.

B-acrde, Cwddd)

() Ewdehsom srosdno Bohad, Bduyr sod Sgojor Srosdmo ﬂdﬁm@
Chdormr ng"égde@o F0B 40000l

(2) E&ﬁé@(ﬁwc heoyomr Srbsdwo Belb sod B dodom God edgiform
Srb8dmo Bod sodod | |

(3) E 0050 B wdgdgorm $rd5dmo Uabad, Cdgoyom Srogdme Bobd
- Gotnod

(4) E50Dokn Ben dgoyorr Srbddnc Tob, Cudgdsor SrdEdmo Fob Gotnoh

Rﬂmgﬁa W m%ﬂ _

AR 9RT T T ' 4% &
AMINIZ T 42 3
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109, A pop transistor is used in common emitter mode in an amplifier circuit. When base current 114 The ¥ -
15 changed by an amount Alg, the collector current changes by 4 mA. If the current amplification e ,I Lfe, l;g
factor s 60, then the value of AL, is -

vl

&8 pnp (PONRED 358 grdd Jgrdod® of $dE Hodbeds® edTrAcw
) . > L S5 A
§. wgrd Bardrod” Srdy dewd Al wondbypd, HIS Poiod $783 ! wEE
dmA. Bl $gY Hmfo 60 wowd Al Dend Fedot
(1) 240 mA (2) -66.6 pA QOF IS
(3) 60 pA (4) 15 A (1) 40.8
_ (3) 5.8

16, A U reactor generates power at a rate of P producing 2 x 10'® fissions pet second. The
energy released per fission is 185 MeV, The value of P is '

(1) 370 x 10% Meoawatts (2) 0.59 Megawats i13.In Mose
(3) 370 Megawatis (4) 592 Megawatts i L-series
2% 1018 308 D{D‘D@m 5@3(1'3?&?'; a¥ U dalrgss P D’ eod g0 wlo % 3y
D300, w88y D088 Iwdd 4§ Dood 185MeV. whypd P Ty Jwod pomosc
(1) 370 % 10° Bore o5y (2) 059 Do T8 (1 L
(3) 370 e Y (4) 1592 Bore 8y B

154. An elec
11. The purpose of using heavy water in nuclear teactor is

Yolts. I
(1} to cool the reactor to room temperature circular
(2) to make the dynamo blades to work well

{3) to decrease the energy ‘of fast.neutrons to the thermal energy w¥ 82

{4) to increase the energy released in nuclear fission 55‘5‘-'5‘

argfaiads SAIPEEE e wood: SR TWrAKEH s mde ! s,

(1) Bl GRIHS $68 Spadlnt | (00
2) BT B e HITdnsg , |

3) Db Srgerd 480 Gaoh 18 20 BhoHbH % (1) J
4) T8¢ DBS* Dbse whg 1 DobHb *

| .

gh Work . | %’:@mgh W
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115, A 0.01 H inductor and /3 nohm resistance are connected in series with a 220 V, 50 Hz
AC source. The phase difference between the current and emf is

T T, T, Y
(H gradzans (2) Eradians (3) Zradxaﬂs (4) gradians

w8 001 H (B¥¥o &8ds» /3 ¢ 4Ldno 28¢od (A8<° 220V, 50 Hz
VEodd w5 s Sodagron, Deigdy9aItI8 Podatn el Hds STBSo

T
(1) 5

3
i
i

EAMCET Rank Estimator . www.netbadi.in EAMCET Mock Counsellirg

T

3

Bt

Th SSBR (2) 5

dachs () % oo () = dackE

116. When the temperature difference between the junctions of a given thermocoupleds 120°C,
the thermo emf is 30 mV. The temperature of hot junction is decreased by 20°C and cold
junction’s temperature is increased by 6°C. The percentage decrease in thermo emf is (assume
thermo emf is directly proportional to the temperature difference)

sdg@dd 2 ﬁ%éﬁmd%oeﬁ* Doghe Sy et de T& g 120°C é:élﬁao‘fég,
Gpdirs 30 mV. 38 Lod Bk, w08 20°C 4ol Jed ved T
IS 6°C oD, 6% Jred® Shde rdo BRI efKe $5dy&
wXStirSardod® sodody wdE0d) '

(1) 2.16

(2) 204 (3) 216 4) 43

117. The emf of a cell E is 15 V as shown in the figure with aninternal resistance of 0.5 Q. Then
the value of the current drawn from the gell is

Hhodt

S:08 BWREILES IBgE B Dl

Srpdb Poko T Jww 15V, e—soéﬁlé’ﬁqﬁo 0.50Q wond & o

20 70
A |
1Q
60
~—ABf AR : '
Xe 100
1) 24 (2) 5A 3) 1A 4) 3A
Rough Work -
AM 2013 D 46 8§
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i18.

f_:zrsam’:‘

Copper and carbon wires are connected in series and the combined resistor s kept at 0°C.
Assuming the combined resistance does not vary with temperature, the ratio of the resistances
of carbon and copper wires at 0°C is (Temperature coefficients of resistivity of copper
and carbon respectively are 4 x 107°/°C and 0.5 x 1073/°C)

oA S0 FEN5 Sden (S fodagron. 8 DoTri NE'So 0°C &Y
Hodndod. vowWrH 25°F0 e HES ércﬁagﬁgdéo w3 § ol 0°C 58 S“CSQS
Hobcin h Ao DR38 (PA T, Sodin sTENS ToE; &R Dﬁsdéi’s
fomses S&bm 4x107°C $:8d50 = -0.5%107/°C)

8§ ) 6 3) 2 (4) 4

119.

A parallel plate capacitor with a dielectric slab of dielectric constant 3 filling the space
between the plates is charged to a potential V. The battery is then disconnected and the
dielectric slab i{s withdrawn. It is then replaced by another dielectric slab of dielectric
constant 2. If the cnergies stored in the capacitor before and after the dielectric slab is

changed are F, and E2= then E /E, is

L5r088 bode T26E Sy HBTR) BGE Qorogo I Mo 5°5¢ &33& Gow
EES PBRHE V wlhdes eT 8o "{::‘ojoaac?eo& are 8D 823D 5
&5’3&50 @@3&3"63 5k @O"ogsﬁm 2 Mo $00TwE &g Oy Bwdd
838 adhor Howd. _s‘@“(oéag S0y 880 $rdyE B0, 1835 S
& IO Doy a3) dHo B, 5008w E, wowd, EJE, Jeod

4 2 3 9
M g @3 ® 3 O

—

129. Two capacitors having capacitances C, and C, are charged with 120 V and 200 V batteries

respectively. When they are connected in parallel now, it is found that the potential on cach
one of them is zero. Then ‘

C, $a0o5n C, Sr2eSy DAY Tod Brbad 80 120V Sodcke 200 Vo
pgbbod 0% wIfodobagron. TESyd DL 2dfom 098, g’
D8 o i PBYHS Wby Hob. edpd

(1) 8C, =5C, ' (2) 9C,=5C,
(3) 3C,=5C, : 4) 5C, =3¢,
Rough Werk
AM 2613 2 47 8
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148, During the manufacture of cast iron, the slag (CaSiOE) is formed 1n 156, Carbon and
(1) Zone of Iuswn-oniy | o 0¥ 58NS
: Zone of reduction and zone of fusion

“" (3) Zone of heat agbsorption (1) CaH{(
(4) Zone of reduction only : j
TS adedn FoTas b Y S Sewo (CaSi0,) Dd@ésé& (3) CaCl.

(1) 8253 Sododnd® Jr@h
(2) §0h¥dm 00k BAFIS oderod’

121, The energy

3 &Q.%’sé.ea Lodeind® ' is listed be
(4) Ech8dm Sodudnd® Sr@d wavelengtl
149, Match the following : oy &
List-1 List-{I 300 mi &
(A) pH of unpoliuted rain water () H,C = CH-CHO Howg
(B) Acid rain (I) 5.6 ' ~ 4
(C) Acrolein (I NO,, CO, .. (ieV=
(D) Freon (IV) CF,CL, | Meta
(V) CaOCl, (%
1§08 80 wdHidhdn | : .
w (e
e | groae 11
1) 8
(A) sty Sard o e pH # H,C= CH-CHO 1)
(B) wdy S&dn () 5.6 I
(€) Q@"@S (). NO,, CG, 142, If the um
D) Bdrs (V) CF,Cl, its post
_ . A
(V) CaOCl, (=66
The correct answer is .
H0THE LGSR | (1) Bev
A M. O @O : HOI0
O O iy I dv) gvéoeﬁ’*
@ @ @M av . ' Hdrde
3 [HYR v
Gy an O w 0
@ am O {dn av
EE e e
‘Rough Work ‘ Rough Worl
AM 2013 D 58 8 AR 2013 D
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157, Two gases of molecular masses M, and My, are at temperatures T, and T, respeciively, If
¥, My =T, M,, which one of the following propertics has the same value for both the
gases 7

(1) Kinetic energy (2) RMS velocity (3) Density (4) Pressure

T, %o8dn T, effide 3¢ do Todk Tdnpe emgrores SHHT M,
oade My T, M =T, M, soxnd, 800 T8¢ uw Dok THnPHoLH »T Jood |
e c;ﬁdéém :

(1) %8z 48 (2) RMS 3#Ko (3) @votcseﬁ (4) &S50

138. The weight in g, of the non-volatiie solute urea (NH,CONH, ) to be dissolved in 100 g of
water in order to decrease its vapour pressure by 1.8% is : -

Ry @830 18% SAcdmdd 100 (r g8 BRodHodd eard)fo
rdEdw chrdosr (NH,CONH,) ardde (m.od'
() 03 @) 3.0 (3) 0.6 4) 6.0

159, The boiling point of a solution containing 68.4 g of sucrose (molar mass = 342 g mol ™)
in 100 g of water is :

(K, for water = 0.512 K kg mol ™)

100 | A8S* 684 (m WrEE (emordo = 342 | ST Ko (Had)
m%gﬁéé Q’%o :

(V8 K, =0512K kg 387

(1) 101.02°C (2) 100.512°C (3) 100.02°C 4) 98.98°C

§66. A certain guantity of electricity is passed through aqueous Al (80,), and CuS0, solutions
connected in scries. 0.09 g of Al is deposited on cathode during electrolysis. The amount
of copper deposited on cathods in grams is :

(At wi of Al =127, Cu = 63.6)

280830 $0%rn Dbgh 98T (96" 592¥ Al (S0,), 200k CuSO, (Trdirelboa
28T 0DadI8. G I&gh DFANS 5§ $E $¢ 0.09 yr Al D§Rdoondb.
SEED JadeThy 596 wESn (red®

(H.27 Al=27; Cu=03.0) -

(1) 31.8 27 0.636 (3) 3.18 (@) 0318
\- }\/

\ Dﬂ ‘\65\
AN 4 rl/t// e

AM 2013 63 W ‘?Z‘Lb
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